K'C&}’)')CZU'C’)Z? Mops

J

Fof S;/Y’f)“vgj?,qj 5’—var;ab(¢ ‘Fu/)(:'ﬂorls
3 4

Yy z Yy z Yy z
g © O | I | O b;ﬂafj
3 2/ tyenslatior
X=0
O 0000
N & | | 000 |
x=1 . [ ) 210010
il Rl ol 310011
. 410 10O
X, SurFDSQ we have > 65, 7) chewa above, Slotlol
Sii‘ﬁll } what do +hey have ja commen 7 cl|o1io
7 =1 x=| and 2=), 5o +the 710 11|
Term Is x5 3|1 000
911 00|
i0oj1 1o
p)fi ol
o . o . )21 [0C
F’O( S'/«AP(};‘}'EB)/),‘S L{ ‘\/Qr.cLlf)Lt‘, 76/){%,0)43 ]3 | o1
/4y 1 110

L

R

\ y Z y z y z yz
\—oo o | ! | O
OO

w = }i 3
x> O i F?_\

(v

PN
"
I

:
<
-
<
—

x 3
" (i
O ——
\\ 0
N
A
(
§
1
|
—) \\-0—5'
)
1
Vo ez
\ — — e~
/——@

ox Suppese weheve 3 (8,912,19)

§=leo0
9= 1001 What do +lese heve in commen °
12= 1100 W=l and 4= O, so - Wy’
12- oy ) L an g by , 8 the term 1S wy .

(}\/’om that [n goneral there max b2 seversl] terms v eximm




